SECTION - ‘A’ : MATHEMATICS
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001 Arun bought bipder clips at the rate of 5 for o rupec. L
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(004 MBC is a right angled triangle, which is right angled at B. 1f 4p=/12° +47 €. BC =2
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@I A bicvele wheel makes 1000 revolutions in moving 2 km. Find the diameter of the wheels
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{ "”i:aj' I a=54246 and b then what will heé the value ol a® +b7 7 't.L, A,
Ny il : { i' |‘D . o
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] & - P
) Ginuransh has 290 cards, Tanyva hos 150 eards, Flow many cards must Goaurnnsh give to

|.||'._\.| s0 thin Hiyo may have 3 times as many cirds o5 Gauransh

Ml 180 ) | {3y 140 80 =

"QHFH’;' A'S present age s twice that of B. If B

'S age 5 vears agd was b, then whit 15 A%

% ;ll'_"-\.'ll'!
nge
(B 2b:+5 (2) 2n—5 (3) 26-10 3 2hln
[
= by
009 /I ABCD s o parallelogram, then find the value of x and ) L
| §
where OO =x+v. OD =18
909
OB=y—3 and 4 =125
_1! %
I
G @2
,3' oG b
(L) () x=23yv=2 (¥ x=12.y=13

{010/ Statement A : Every parallelogram is a trapezium and every rhombus is a kite
- o : . =
Statement B : Bvery rectingle is a square but every square is n

(1)

ol 4 reclangie
Both A and B are true

(2) AUIS e and Bis flse « Y "‘ J
@(E-H.Fﬁlsc and B is gt X ’
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. A ]
y ‘ 5 dingony = \f) L oanbos
; i and one of 1l diagon; - AN
rhll ind tl o Rhombus ABCD having cach side equal to 15 ¢m A1 \ ; 1 A
L ol « ' 4 : = i I F s e Sl i B e e . [
1II|}. Find the i / The denominator of a rational number is greater than its numetator by 2. 1fthe denominator— 2
ie 24 ¢m \ ol
o : /
15 increased by 3 and the numerator is decreased by 2. the number obtined. is = I'he
T
L rational pumber is
\.\_ -
< 4 . 4
(1) (2) 3 (3) (1 =
— m {

¢ \/IGQ-’“"‘

— e
— 1)
// A - D15] Which one:of the following is a pyihagors intrinlet if which ane side difers from the
UG J::,!I.} z { ¥ 215 4 pythagorean triplet in which one side differs from the
/ # hypotenuse hy bwo units 7 =
13cm |2 é?
7 ’[)G eax 0 (17 (2n+1.4m 20" +2n) (2)  2p4nn’ +1)

A p

{1) 80 cm (2) 140 cm® (3) 100 em® Wﬂﬁiﬂn" —

ﬂlQ Ihe ratio of the circumference of 2 wheels is 5:3. Find the ratio of the radii of the 2

3

(3): (2n%, 2Zn. 2n+1) [ T e I el
=

e _ > [ wheels,

ffu 3):\ rectanele ABCD is inscribed in a circle having sides 8 cm and 6 cm. Find the ared 0 539

! = ? M55 YIS 5 3 91 | ():
J/the shaded region &V () $2) v S R

Fhe following mirks are obtained by a student in different subiccts during formative

assessment in ® subjects. Find median

| i FF

o

7.5, 80,9, 10, & 7 : .
L5009, 10,8, >
:@(',T-SF 2] 9 (3) 6.3 @ﬁy 8.7 |

D / C v~
@ Factorize 44° — 94 — 25— 3b. Identify the correct factorize answer g

7
(1) (2a-3b) (2a~3b~1) SRR aBY M b i X
(1) 32 em UA{ 305 em?® (3) 40.5 em? (4) 36.cm? LE.‘- Sl )
(3) (Ca+3b)(2a+3b+1) @AY (236 (2a—3b=1) 2
,\ P | o Ead
‘J' y = %
&lll.‘ Find m so that (—5)* x (-5 =(=5)° : ,--,..Q_.__-_:__:.—‘.-':_"'-'_' /
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) ) &g, m (2 (=11} &q. m W""
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Mateh List-1 with List-11

List-11

List-1
AV (Ta+6bNTa—-68) (1) 395° +84ab+ 36k
(B) (Ta+bb (I} 494" + 2lab—188
/

{C) (7a—6h) /1D 4947 -36h°

DV (Ta=6kW7a : by MUV) 404 —84ah+36h°
Choose the correct answer from the oplions 1__'_i'l| en below -
i1y (AT, (B (O (DHIV)
(23 (AR, (BRI, (CHIV)Y (DX

SF AR, (BT, (CHIVINDRID:

1y (AMIVYL (B, (C)-(10), (D)-(1)
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3 | Contd
{,Ill e [ ) :“ r
S g
- ay L ”



2 {Anita bomows T |

&

Ve

033 | Mol

work hl:;_,!{:{!]':l' for 5 '.lhl}h & thén Muohan

G
= =4
o £ 1 s, <
w S A =
- ] - : ks
T80 2 1
A
If. 4B« d EF en i ORH
%] “
. N
G s H
5 R
e,
B D
il (s 2 i (3) LY

moncy al ¢m

s e T3
the end ol 2 years
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[ 40 }u huch of the following cannot be true for o polvhedran

yhedron 7 '||;:I [dentily the correct coorthinates: of the vertices of rectangle OABC from the
') [ joure
W"-L F=4, E=6 () V=6, F=8.E=12 i
.
(3) V=20, F=12, E=30

@rv=a.F=6. E=6

adjoining

s
= =R
N
AR : : 44 B §
{041 Consider the following distribution : z e
N -
Class 0-20 | 2040 [ 40—060 | 60—80 | 80=100 | I )
Frequency | 17 | 28 32 T 19 | Lol == e
0 R s T
If the mean of the above distribution ivhat is the value of /7 QUOLOTA.0), BER:3) Gi(0: 3T
. . — 1 ! \_S_l——i L
(1 ; : (2) 34 L3Y 56 (4) 96 2y P(4.3). O6.1), .‘EHL.\]..KI—L'-’] ; F - 4
& 0(0,0). A(0.2). B(3:2). €(3.0) '\l"
\ 042/ The mean of 20 obscrvations is 19. On checking it was found that the two observations 4y O1L1). 4(0.2), B 2.3), C(3.3)
N were wrongly copied as 3. & b lt wrong observations are replaced by correct values {-: soia panre How long
e 9 DNt u..‘rreu L A cistern can be filled by one tap mn 4 hours and by !:uus'r.cr tap in 3 hours. -
d 1o Ly her
— will it take Lo filt it 1 h"”] [aps arc Openc
340 oo (2) 166 S (4) 142 5 7
12 - {4y — hours g o
—— S— (1) -l_,l hours 3y ‘hours (3) e R AT
< :
43 | A person has 2 bags. First bag has 3 black and -1 white balls. Second bag hag 4 b!

ack and
{ / 3 white balls. A bag is selected at random and then a ball is selected from it. Fmd the

i ]
‘ Rry e 5 s divided by glx)ix=-
{'imuse the correet remainder when' plac) tax= A8 ;
probability of the ball to be black. ' =
= 1

. ’ 3y 30 (4) 33 2
(1) 20 @25 :
I e E sen aeds A4CD=100° . Bind £A45¢ L
7 O 3 @ = @) = =4 48 | I the Fig. £QAP =33 an¢ & | 13
<3 .; J 3 4 7 il g
= = LA
vi_¥
ill-H_"‘.\ hat 1s the probability that the number selected [rom the pumbers 1, 2, 3 =30 15
' a prime number.
: 5 = 2 B D
1)l == {2) = . = 9 3
2 (1) 33 = '(gyﬁ (4) 3
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4Y _ln [ndin people speuk different languages. Choose the correct option in dc.j'"'cu" Wi T
= represent the number of |1|_'t1p!|: “I'H-‘L!l\'ing Famil “_;;i”!_- the information given in the L'|1;|n ) s NG
A
~ i . .
-fll;r] {;ﬁfmﬁ..- the correct option that has the right reéarrangement of words (o make i m b
./IfgﬁiﬁlL'llt'C_
= (A) hutler
/ :
, r 2 . J
= 3 (B) 15 ad
) (€) bread and

r' (1) combination ¢

]
Language Number of People { () templing . | | | " pee
(i) Hindi 40 ' ¢ Choose the: correct answer from the oplions given be N
(i) LEnglish 12 “'ll (1) (D) (A) (E) (C), (B) (2} (A% (13).(D), “,_U |
(i) Murathi 9 A\b' Jﬁ-)' (C); [A). (B) (E) (1 4y (A, (13), (E) (C). (D)
s i ? . | i it of words toanake & meamngl |
f}{j\ (v) Bengali 4 ,‘hnum.t the correct option that has the right rearrangement ol w
.,?543 Total 72 sentence. . “
2 (A) 1s imporiant =

R ARe

5 (B) rules
pey it 2
30.(12) to observe 3

i“ a W (3-} 20° (4} G

050 JThe following line graph shows the yearly sales figures for a manufactiiring company
Study the line graph and answer the following question. : ' I ff;

- A L) trathic®

Ihe average sales of the company of the even years will be, - t siven helow

: ' . Choose the correct answer from the options gIvel B

(2y (DY) (A). (B). () (E)

2 | OFC). (A). (D). (B, (B) e
q e . { ! ) (EY. (D)
T 10 7N | () (E), (B). (A). (), (D) (43, ((A) (B (), 1
? H ! 1 ,! N = - o
E Il = [ 053/ Choose the correct option {0 fill in the blanks
£y The patient was weak to walk without help _
} < 5 e o 5 (4) few
oL - 4 — - litile (37 much
s 4 oo (Z)
' z (it
f
2002 2003 204 2005 2006 054/ Choose the correct, preposition . ;
; ar ar ?
it Are you looking for anything PALEEN 1'4)'".1“
- il W— 2 a o w .I.hﬂ\i_' :
= !% 7 (2) 85 e QI = % (1)l ‘over (2) among o
| Conld..
13 ’
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@ Mutch the following books/poems with their authors/pocts C)
o

60 (Choose the correet option and fill in the blanks
e Ak y Yoely "You li
Books / Poems Authors / Poe A iy sister said, "You lied to me yesterday.!
(A) Treasure 1sland (1) Mujor H.P.S. Ahluwalin / 5 -
1 7 \ ] My sister sand that ta her
(1) Swami and Friends (1) Robert Louis Mc\'uﬂ.\l'll-ﬂ_-‘ V ' .
_ it (1) you had lied,  yesterday
(C) Harry Potter (111} R.K. Narayan . o
) - . : ad lied.  yesterday
(2} “The Summit Within (IV) LK. Rowling F) @) I - :
Choose the correct answer {rom the options given below : M hiad lied. . the previous day

(1) AT, (BY-(IV) (C)-(1), (D3-(11)
TN, (B)-(1T), €)1V (D)A(1)
(30 (Ad-(1) (B, (AW (D-(111)

(47 you had lied, the previous day

(fu. /| dentify the subject in the following sentenice :
(A (A, (B)(1), ye.‘m-f_w}. (D)-(I1) B s i
& | ] v (1) The Board {2’}/ The Beard! of Diréctors
toose the correct option. | |
] ireclors (4 The Board of
L e mason is building the wall. (3) Directors

Ihe above sentence would be written in passive form as ;
(1} The wall are being built by the mason.

.‘l(t‘lz (hoose the correct option !

= Samisa ___man.
(3) The mason is being built by the wall. (W first {2y handsome {3) half (4) delicious
- - Vot - o 3
% The wall was being built by the mason/ 4
£63) Choose the correct option to fill in the blank :
Choose the correct option. ] N
o Hi eanith i : The man died in the hospita .
> e =23 e J2f injure (3) 1o injure i‘V{ll“’“d
(1) galaxy (2) universe @fgta; 4 tuckily (1) injury - =
(2%
/o < t :
| i} i f - o frO ¢ following options.
L%{}ldcnm_\: the error and choose the correcl option, .Id‘:f‘l 'l‘s"the positive degree from the following o
. 1 Tiya Ay~ A nier 4 (4) Hollers
4 \-”'fi-,ncrg}' is very essential in succeed in Life. - (1) Hottest yﬂ’ ot (3)7 Hotte
ﬂ'}_/in.-m (2) is-was (3) in-for (4) is-were
: ; e the following senience
@:hi}n“ the correct option 10 complete the folic
Choose the comrecl ophon @ id cee hcr paintings )
/ Ramesh and his brother dancing. —— (i ‘@j you (4) him
- I — — L 4 ; (2) e i P
5 (1) was 49‘-”““?@3’ (3) willy (4) wouldy 7 (1), her -  Coti-
: . o 15 '
EN/EETAR9/23 M ] 14 ontd.., EN/EETAR923 M |




il !
Vilentin Huuy developed o syslem of reading (e the blind, He' printed normul |c11l|\ 11 ¢ HOSE
reliel that could be felt by o touch of finger: He also started a school for the blind el Iy A :
Hauy's ssstem of reading for the blind was very useful, But it was, quite difficult 1o Mo L) except () g T (3) ignore (4) refuse
Muru-nt it wis only noreading svsten. There wis no wiay far the blind to write in s S¥h oy -
In LEI9, o ten-year-old blind boy n.l|!_m.|,| Lonis Braille entered Houy's schools ety -
intelligent student and quickly learnt to read with the help of embossed letterss But he S0
realised the disady: ntages in Hauy's system. He made up his mind 1o develop aneasier el
ol reading and writing for the blind. And in 1824, when he was only 15, Braille iny L.I]lq_d
system ol whiting which hus been nceepted all over the world. He was yet o studént in ||-llln
sehool, This school is now known as the Nutional Institute for Blind Children, 107s SUPpoty
by the French govertiment. :;}{HIHNM' the correct option 1o fillin the blank @
On the basis of vour understanding of the passage. answer the following questions . '

Direction ¢ Kead the possage given below : (Q. No. 066 1o 070) (‘\' the eorreet option
‘. - [ M L&} i on

[he syinonym ol 'take' |

112 {'ci'.l”"?"-' the correct I.I|‘|-II'[I
e antenym ol 'St is

¥ (1) Bland (2) dark l&y"llﬁlﬂ (4) bright

7 3

L/ Lhey aren't good scuba divers,

(1) could they ? g7 e They (3)  can'they 7 () willithey
‘\_\‘ "

174 | Which of the following 15 an assertive sentence

£ 066 What according 1o the passage was the major disadvantage in Hauy's system ?
“ (1) ltwas difficult to comprehend.

ST Hauy's svstein was difficult for the blind to use for writing”

(3) Ivwas easy to learn

(1), Do you enjoy ldli Sambhir

4¥° It was o regular reading and writing svstem 1
{/ = = s - (2) You are requested to stand 1n line:

i o~ P L= £ o TH 1m s . 15 mentt
067 (What sccording 1o vou is Louis Braille known for 2 (3 The Tayis o BEnuhillmbaume

-
L e (1) A blind boy : (4) Hurrah ! the schiool team has won the maich.
- (2} A general student in Han's school -
L_.&’ Ihc il‘l‘l‘l‘.'l'l.t(ll’ Dfﬂ syslein of I'Eildin!énd “'ﬁ[-iﬂg fﬂl’ |].'IE bl{l‘ldj v 075 Match the serms/books with poets authors &
(4} A ten yvear old boy Poems/Books Poets/Authors
an : c< f} A Nocation (1) Rabindranath Tagore (A
[068 |He printed letters in relick. : N - [ Nel R
- T Al Jeh
\ Here the wobd - felieP iams L '”\I]E_{J Christmas Carol (1) Jawaharlal Mehr
() engraved () Geography Lesson (D) Charles Dickens
3) normal form (1)) Discovery. af Indin (V) Zulfikar Ghose »
RN 3 : Chaose the correct answer from the options given peiow

.
| Give the symonvm of the word - ‘invent!. A
- (1) (AT, (BY(IV). (C)-(D), (D)-(11)

\g}" Creats (2) realize {3) discover (4} unearh
; ) (111
M (AVIVY, (B)-(1), (C)-(11), (1)-(1
(3) . (AY-(H). (BTN (E)=(111), (D-(1)

070, Give the amremm of the word - 'develop'.
(AYED): (B=(ILE) (G-, (-0

(1} grow {2y decling; {31 overweight (4) ripe

17 [ Contd...
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SECTION - ‘C' : GENERAL SCIENCE =

.F‘ﬁ\ f"q.l; Tadpole develops into an adult frog by the process of -
- A e «tilisatio Nt hosis (3) Budding (4) Adapation
076 Adentify the correct sequence of process that results in lightning - \_/ (1) FKertilisation (21 Metantorphosis uddin
N (A) Magnitude of accumulated charge becomes large R
i 29 ) + petling opposiie 1o « direction of motion of a body 15
(B) Accumulation of negative charge near the lower edges of cloud )} 1)1 pree acting opposite o the directior | )
reavitational Force (2 Electrical Force
(C) Air becomes conductor of charges. S Giravitational Fo 2y  Electrical |
. - it i aree (4 Ntmosphene Pressure
(D) Accumulation of positive charge near the upper edges of cloud. 3 Friction Force j [
(E} Negative and positive charge micet producing streaks of bright Hght and soung e
Pt e Human ears are Sensory organs that help to hear sound. 11s ouier portion an e St - T
- i lelicate -car is buried deep inside the skull. 1dentify the torrect SCHUETIEE T8 I
Choose the correet answer from the oplions, given below : cest of the delicate car | Gitle
- : yuter ear to Inner ear
(1) (A), (C), (B), (D). (E) (2) (D), (BY (C), (A). (E) Outere ; .
. : « iy : ! Al Auditory Nerve
13) (D) (BL(A), (C) (E) ~ L (A), (©), (B), (D). (E) (
(B) Ear drum
@”‘IC calorific value of a fuel is ‘-'-\'I-'fﬁ-"SSL‘d T BE R . (C) Pinna
(1) gl (2) ke @) e \i\ (D) Ear tube
N (E) INNER EAR
; |- : - -  enrrect answer from the options given below
@,‘ To electroplate silver (Ag) on a metal object, what will vou choose as cathode. anode and Choose the correct answer from the opli : -
! | ( 2 { D). (Eh (A
electrolyte ? () (D), B CE)) (A 2y (B), (), (D). (
: . : ; ) - ! (BY, (C)
(1) Cathode - metal object, Anode - silver bar. Electrolyte - copper salt & (A, (B). (C). (D), (E) 4y (DY (E)(A), (B)
{2) Cathode - silver bar, Anode - metal object, Electrolyie - silver salt
(3 Cathode - metal object, Anode - silver bar Electrolyre= silver sali @Mmh ek a
(4) Cathode - copper rod, Anode - silver bar, Electrolyte - copper sali et T
.- (A) Braille {1y Splitting of white light into scven colours
m?ngR:ﬁshi was unable to hold the greasy tumbler of milk in her hand. It would b hecause- (B) Kaleidoscope () Left of the object appears right and right appears lef
" (1) Greasing has made the surface smooth, increasing the friction v : e for visually (Blind) challenged persor
: 3! i . T Resource 1o N
= . = «\l.-'n! (C) Dispersion - e o ol
{2) Greasing has made the surface rough. decreasing the friction : o I erms are formed because of multiple reflectior
. 2 . (D) Lateral inversion (I jBeautiiul patl
37" Greasing has made the surface smooth; reduging the et an . e ions e elow
i i et Choose the correct answer 1T Lons £
(4) Greasing has made the surface rough, increasing the fmction 100se the ¢ : g
1 (1) (A, (B)-(IV], (CHIID. (L
f“ : : ' \I'I
r . » 1t 7 2y (U 1. (G-I, (D)
'080] 'Combine’ is & machme. ldentify from the following for which it is used ¥ (2. (AR, (B "
I i : 3 Tt BT Sty (C) (B
W1y Fér harvesting and threshing (2) For sowing and harvesting M’{'&W{B}Eﬂ\r}, (E31) (B DH Il| .
78 For | l ving. ) For imigati i 3 ] [ L (CHL), (D)
& *l  (3) For threshing and sowing (4) For imigation and sowing : (@) (ANIV), (B,
§ i I' Contd.
ontd. j 19
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¥

species Trom the

Ll Which of the following statements is incormect for CNG i B
S S8 Identity the name of o book carrving mtormation about endongerned
{1} It can be casily transported through pipes ( tollowing
LB 1 is more polluting A Red it Book (2) Recard Datn Book
'.-\“ l'\‘_L'\'ll“l HL'I-"}.\ 4] Observation Book

(3) It is stored under high pressure,

(3} It is used as fuel for transport vehicles.

()  Chuin pump

Efb, Amish has o demonstrate a Stience Activity on lgnition temperature from the obiects

/
(b) Lever svstem

gi\-lcr? to him like paper sheets, candle. matchbox and water. The correct sequence for (he o
activaty 10 work will be - N (¢} Sprinkler system
(A) Light the candle. (d) Drip svstem
dB) Pour the water in one of the cups. (1) Bath (a) and (c) LA Both (1) and (b)

Both {d) and (1)

(C) Continue heating both the cups. J(3) Bothite) and (d) Y (<)

g ‘Ll)l Make two paper cups by folding a sheet of paper.
(E) Heat both the cups separately with a candle. L
Choose the comect answer from the options given below : 'M“!F“m dationaliPerk e AR

\al D (D) (), (B). (E). (A) (2) (DL (B (Ek (A) (D) (3) Jim Corbeit National Park (4) Tuwa National Park

< LT ONERANEITC) g4 (B), (D), (E). (A). (©)
({1

|
@N;mw a National Park situated in Pachmarhi Biosphere Reserve from the

He wishes to know what should be eaten

1 Ankush has just entered his adolescence years ‘
: : t of Tood should he consume 1o remmn bl

o remain healthy. Which of the following set

£\ ;
087 |Match List - | with List - 11 : .
L / and healthy 7
. List-1 List-11 kMﬁik. rices dals leaty VeRetbles
Cell organelles Function (2) Chips. lenfy vegetables, milk, burger

(A) Nucleus (I) Coniains cell organelles (3) Milk. dal, leafy vegetables, fried snacks

(B) Cell membrane (1) Control center of all activities of cell (4) Dal, rice. burger. chips

(C) Chromosomes (1) Transfer of charactérs -

(D) Cytoplasm (IV) Provide shape and protection @_@M puberty which hormone is secreted hy ovaries ? e

(3 Growth hormons

';zfl#“ [sirogen

(3} Testosterone

'
Choose the correct answer from the options given below :
g 4y Inzulin

T (AR BrEV(CED, T

(2) (AxIL (B} (CHTOTL (DFIV) - (,-*-w
093 Metamorphosis in frog is cantrolled by this homone =

(3) (AN, (BYIV), (CHI1), (D)) 3 W%
=k ’ e (3) [Estrogen
E (1) WIW““ \

@) (AXIV) (B, (C)), (D) 7 Insulin

ENEETAR®23 M) 20 . LaEl.  PNEETAR923 M)

(4 Adrenaline
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i_iﬂlj { hawwse the feasibic dieplactment reaction from the options gZiv en Dl
: SECTION ‘D* = SOCIAL STUDIES
~ e ‘ﬁpﬂﬂiﬂ = Zinc graules ﬁﬁm stilphate + Copper Lummg:;k

L")
U Finc suiphate = Iron nails Zinc sulphate = Copper tumt ﬁi‘i d sinhbottiood i die AR

— R/ i Z = g
Y , 3 1 peavide all pecessary dems | o7 -
ot/ Plasctic comtainers or boxes are mostly preferned 10 siore food items because these are . LE # peccsIary. 1
= i1} non biodegradable {
il 1o ¥ rodeg jabhle a2y e of fr ger i Tk
1y Rivers t‘;‘K Ram
sioe of heat and clectnicaty e
(1" b b t
* HYT O
b ' AT Mohammad A d S "
~ Gr ¥
[ A -
1096 )i cwrent p‘ﬂwd through copper sulphate solution copper geis deposited on the plat
N - - o L1
By & positive terminal of battery 3143 4
33 when batteny 15 not connected (4) copper deposited on both platcs > s :
ﬁ o ._.hl.il\ll Casic distincin o T g 2 [ { Wil
.
LA Poor peoy
T ISEO stands for - 1) A eainst child ITIage
S : : s -
i1y Indian Science Research Urganisaiim \
S . S g | adakh deser by i
(3} Intermational Science Research Organtsation 105 ) The oo
w — I""/' hristians and Musims (23~ Buddhisis and o el v
\ ] Chrstians
H inerstate Research Organisation .
- 106 yFrom the
i
098 Ydcrrifs which not & water poliutant from the following : Prowvi
Sewage L;"/ gac {3) Femilisers (4) Weadicides = - b — .
4 : —— o 1/}1’.’\1101-\-3. fovipe physically from onc piace 1o another
“ivery ¢ et sascs are responsible for glohal warnmng 2 ~
t‘.l' Ui methanc “ walc ‘W 2y (C I'}:_ \Iitph’..:.* dioide. water wapuour lll'fl',f'- s 1} : G e ¢l -
. 1 ard WHICT VapORE {4y CO.. oronc and mcthanc Lonforous TSR -
3? Mediierranean rezicn -
T . j =h hecomes fuffy bocause ol - == :
i (2) Gnnding 2) Met (F

$) Knecading

'Wd}ﬂticdh_ (4)

(]

e




109 | Maich List 1 with List 11 I ’;. Iron made from iron ore is the product of
List-1 List-11 i (1) ’,I farine industr | I._J__.-"(:i'lﬂu_[ nl bused industey

/ "W (A) Right to Equality (13 Prohibits human trafficking U\ (3 Agro based industn ) ForestBanad idikr:
C?-' (B} Right to Freedom (1) Equal before law [
f‘if{ ) Right to Freedom of Religion (111) The right 1o form associations 1% When and to whom the Britis! i'_"’:""'“' i transierred their powers in order to ensure a
(D) Right against Explostation {IV) The right to practise any religion of their choice L.' ; :;II.'.“'-L l;:r_|1 'Ih:‘:l |.'.‘. okl AL
Choose the correct answer from the options given below ! J : I:‘.‘-'-J | ;:.‘\.,....:“I_Ifj! _{ l_-l-l't. T TR
07 (AHIT), (B ACHIV), IE)HHI-M-“D’ e -L._;-V‘ 1858, Giovernon General 'with thetitle of Viceroy
(3)  (A)A1) (BN, (CHEID, (DY) (4)  (AMIV), (BRI, (CHID), (D)-(T) (4) 1887, Dinshow Wacha r

g -
@/Hh{l::ﬂ'} the crop which 4 not classified as o ]'ﬂ.'jl['l[.'t!inn crop 7 (]l Which Ariicle of the Constitution of India provides ¢ itzen the Fundamental Right
b (1) Rice {2) “Tea (3) Sugarcane P Cashew  life including the Right to health ;

(1) Article 15 (2} Article 360 Artigle |2 (" Article 21

Who founded ghe "Briuhmo Samaj” 7
: = - = | D Choose the meaning of the word Metamorphic from the following -
U/J/ Dayanand Saraswati 27 Raja Rammohan Roy () F el

(3) Ishwar Chandra Vidyasagar (4) Pandita Ramaba {31,4'1;:!“&,& oL o 4y Ad

112/ Choose the correct meaning of Patent’, I.‘HJ Match List | with List [I

(1) It means adding the alue of any commodity. List-1
(2) It means enhancing the usability of any thing. F (A} The Brahmo Samaj ] wle
MT. means reducing cost of production. 4AB) The Ramkrishna Mission (L) Sy syaand
#7 1t means the exclisiye right over any idea or invention. (C) Guilpmpgiri (11 Raja Ruommohan Roy
. T (D) Acyn Samaj {IV) Swami Viveknnanda
/H 5 Choose the—correct answer from the options given below
ik ) EAR) - (IV). (C) - (0 (D) = (1), (A) - (1)
I am founder of Sur dynasiy 2) (A) - (IV). (B) - (LY. (C) - (1%, (DY - (1
(1) Humayun ﬂﬂ' Shaly  (3)  Alauddin {4)  Genghis Khan (3) (C) - (1), (1) = (1D, (A) - (1), (B) - (1)
e : (4) (1) = (L0, 0Oy = (LI, (BY - (1), {A) - (IV)
@Ids_unh the source of funds lor the Err-mr Panchuynts _ N
| o
(1) Income lax L-/ "-;l'\l‘”!ﬂl-'.n[ school's fee g2y ‘.-_ll-:'li.'m' the corrgct delinitton of 'birth rate’ from the following options
f‘_h_kf(ﬁ (3) Taxes on national highways T nxed lon Rouses, market places elc. A1) The nomber of births per vear
(2) The change in total population during i specific ime

\ 3 y ’ \ i s
11 '{"Tmu-cc the landform. which is not formed by the river ¢ ! Wfllu tmbel ol Hve bivths per 1LOOD peGple

= 3 1 4 Thei ber o births per vear, per 10,000° people
|evees (3) Meanders i 4) Afbes .El! E] ( e number L.I live births per vear, pe S|

FNAETAR2S M | 23
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ﬂzz‘ Match List I with | ist 11 : SECTION - ‘E' : INTELLIGENCE X
M List-1 List-11
/ {A) Intensive subsistence (1)  Slash and burn ; 22 8 11
v (B) Shifting cultivation (1) Amount of capital use is large @J_ i
@L,} Nomadic herding (I11) Prevalent in the thickly populated arcas /j 3
~r (D) Commercial farming (IV) Move from place to place with their animals &/J ': o) | 2
Tluwrs-: the comrect answer from the options given below : . ; 225 §355
(1) (AN (BYI1), (C)-IV). (D)-(111) [N B (C-(IV): (D)=(H) Y
(33 (AN, (B, (C)-(1), (D=(IV) (4 (A)-(IV). (B)-=(1), (C)-(11), (D)-(LLT ﬁz;; I word MATH 'is coded as 26, 2. 40. 16. then code for the word BOOK is -
e I S (21 10,20, 20, 44
1 Which of the following is a public sector company 7 t‘{}l" 4,:30,30, 22 4) L2020 14
/ (1) Maruti Suzuki India Limited (2) Anand Milk Union, Limited .
m’im&fu ndi Limited (4) Pesticide Factory of Union Carbide rlrﬁ A. B, €, D are four friends. A is shorter than B but taller than € wha is shorier than D
/ Who'is shortest among all -
@ Arfange in chronological order : T A (2) B (;f( C (4) D
=" je(A) Tughlag Dynasty )
: (B) Early Turkish 129 |Choose 'the correct alternative from the given options
- SPE) Khalji Dynasty “1f 81 of April falls on Monday, what Day would be the 30" May of that year ?
/(D) Rajput Dynasty (1) Sunday (2) Monday @) Tutsday %&'mlnml.q-
y* (E) Lodi Dynasty / =
ChooseAhe correct answer from the options given below : @ If'the English alphabets are divided imto two equal halves from A to M and N 10 Z such
as A corresponds to N, then which letter in the later half would be corresponding fo letier

: (D) (C), (AN (E), (B) 2y (D). (BYAC). (A) By~

(AZ\NC), (A) (B), (E). (D) (4) (B). (D), (€), (E), (A) K.
- R i 2y X (3) Z 47 W
(125 Maich List 1 with List II : y .
“/ - List-I List-TI % @An‘unge the given responses 104 meaningiol sequence -
fi(A) Khilafat Agitation (I) Mohammad Ali Jinnah (A) Leaf
- i3 (B) Rowlaft Act (I} Viceroy Curzon (B) Fruil
:II{ y Salt March (111) Shaukat Ali (©) Stem
(D) Panition of Bengal (IV) Mahatma Gandhi (D) Root
{.';'"_“c the cofreet answer from the options given below . (E) Flower
(1 (B~ (1), (C) - (11). (D) - (11}, [«"‘-l_ - (IV) Choose the correct answer from the options given below
| //fﬂ‘fm/;/- (1), (B) = (0. (€)= (V) (By=dl) (1) (C), (D). (A, (E), (B) @) (D). (C). (E). (A). (B)
= (1) (D) - (IV), (B) - (11, (C) - (1), (A) - (ID) @) (© DVAGIE CAD. (B). (B
e ) (C), (DY, (E). (A), (B) DD (E), (A (EY (1)
= (41 (A} - (1), (C) - (1), (D) - (1), (B) - (IV) ) ) (D) (E). ( @# .
. EN/EETAR9723 M 27 [ Contd
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ri2 e ¢ option that will rcplace quesiion maik | n ihe
4 5 & b a
/ : 27
y 7 F
1 \/ \/
=k I y W L L Yy
| il T 2 |
14 52 ¥
(1) 2% 2) 42 i :
! £ = £= » w
'.-\u
133 Find the odd one out
.4 (1) Alphotiso (2)  Kesar {3) Malgova
'34/* ind the odd onc oul
S
(1} Rhombus (2) Squarc (3) Rectangle
.@{ hoose the odd one ot
, = %]) Scissors (2) Knife (3) Axe
'If -
(/o _..i
[ 136 | Complete the analogy
L/ 2 FL T
: 3621225 12252 ‘_“___,.u——:,

1y | 7929 (2) 6929

f\

4

/ (BIseay

j'-!' ‘i m,cj the missing number, which has the same relutionship with the other number on the

VK m_.m of the relation between the numbers in the given pair.

A6:41::20% _
g .’ N Ti , ‘“ " (3) 44
ENEETAR923. M| S— 28 % @

-~

(A0

“ind the missing word. which h
between words of different pair

_" Pie : Cake T _
(1) Pasta (2 Tastry

; s (d/l/ Complete the analogy.

—t Work : Joule : Wait.
A (1) Volume (27 Arca
142 /Complete the annlogy.

(4) 4929 } Chennai @ Tamil Nodu ;: Kohima ¢

B

(2) Uiujarat

143 Choose the odd one ou

, ZXV, LIM, IGE, UTR, PNI
g W

(1) PNL
ENATARM23 M |

(’j

(2) IGE
4) 67

| Contdis

followmng - 118 .
{1y Ammeter
| 139 JArmange the given words
N (A) Aserstd
(B) Aacrsted
(C) Amyguaring
= (D) Acgledhi
AN (E} Acgledih
Choose the cormect answer from the opt
(13 (A) (B). (C). (D) (E)
L‘ﬂ/m (31" (A). TBY. (D1 (Ev
—

(3

Mathematics

Time

Orissa

WER

1} Heromete
1 the dictionary
C) |
b= o = ,
'y 4 I
(4) Power
(4" Meghalaya
-
U ZXV
| Contd
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I. 'y _.;I [ A ,_,_
137 Which letter will come in ¢ fasacat 4 ( Nt gl WP
2l " “ #
2

"\ ,
i1y M 2y N 1.%.{) 37 P
.. ‘-\ : Tr:
.i["h Which of the fi lowing is the water im 1ge of the given figure
(1) 3800 & 3635 (3) 3435 (4) 3400 = ~ D‘
% ySe o
Ifl’-’t:\ ind the missing term out of the options given below after studving the relationship
\_/ among the given figures 1F e —
it = IS oo =
@bt foRgg w52 ! e W%
o *_-1 AN = — / l (1) (2) Ve | 1 /3 7
= o - A ey - Ij|
3 5 | 0 - = | /.
S
2t 5 7 (] 4 :.
,b.' * 149 /ldentify the correct Ynimo image of word BLINK [Hatongihd line XY
M I 5 . 5
T &7
3 A (D) 8NN @) HALIE (3) MNILS (4)” BN
VLS (n 7 (2); &6 4) 5
.
/F\; P = 15
7"
‘i ' 46 | Decipher the pattern (study

study the pattern and fill in the blank)
F Y- L./F

<
5%

Find the next pattern in the sequence

‘I‘
1)
b | =
o [

o
. 1Y

&
S
Lat

T N
3
b
(%

(4 \ |

' .a?z,o'( [ Contd- IVELMR?‘—? M 3 :
” ), + @ 4\:
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